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: -Instructions : R
20{"9' ' ) All quéstions arc compulsory.
HHEA A3 Marks dllotted1o"€ach question
Jua : A e 15 e ] ] W : 70 ) are given in the margin.
F2: Uy § 15 e Clﬁ&?iﬁlﬂ'l i WA i) In numcrical questions, give all
C\EH“ & fau Paf@ 8 . the steps of calculation.
Note: First 15 minutes arc allotted for the _ 1ii) Give relevant answers (0 the
candidates to read the ¢ucstion questions,
paper. - iv) Give: chemical equaunné
fqi'ﬂ: i) ?T‘ﬁ i &I%IEIF'-.‘ %I ':'JF-"E ] e wliercver neccssary.
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25°C W Li, Ba, Na 3K Mg & ™%
Iqag=, foad ®wUe: - 3:05, - 273,
-2-71 €91 - 2:37 Gl & | TG4 7ae

HEaE Gl
i) Ba™? i)~ Mg
iii) Na* iv) Li*. 1
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Four-alternatives are given in cach p:irl
of this question. Select the correct
alternative and write il in your answer-

baok :
a) The compound which exhibits both
Frenkel and Schottky defects is
i) NaCl i) KCI
iii) CsCl iv) AgBr. 1
b) The compound having highest
osmotic  pressurc among the
following is
i) I M NaCl
ij) 1 M BaCl,
i) 1M (NH,),PO,
iv)] 1M Na,S0,. 1
c) At 25°C, standard reduction

potentials of Li, Ba, Na & Mg
are — 3:05,-273,-271 &
- 2-37 volt respectively. The
strongest oxidizing agent is

i) Ba' i) Mg*

iiij Na® i) Lit. !
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The rate constant for the rcaction
A+2B > Product is expressed by
following equation : R =|A](B]*. The
order of reaction will be
T i) 3
i) 3 iv] 6. ]
The aqueous solution of amines is
i)  Acidic
11} Basic
iii) Amphotcric
iv] Neutral. 1
The sugar (disaccharide) present in
milk is
i)  Glucose il) Sucrosc
iiijj Lactose iv) Maltosc. 1
58-5 U5 NaCl B FH1E ¥ell i §e 710
SIATI { Na = 23, Cl = 35:5 ) 2
3-0 7% AR H 100 WH A H O
W AT & FEuAs 1 IR w0
H A[ 052 k fmay/ame 8 2
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Feei@ad 9@ & EMF H 79
ST

Zn|Zn ?(1M)] |Cu™ | Cu

STF E°, Zn'2|Zn 7@ Cu*?|Cu ®
o9 H9%: — 0-76 @2 da7 + 0:34 &iee

£ 77 e 1 o 8 2
forge W9 = & 7 TWH FHRG TA
UEH TEE o= gl &1 AJd FRe
i@y | 2
Find out the pumber of unit cells
present in 585 gm of NaCl.

[ Na =23, Cl=355) 2

Calculate the clevation of Boiling
point in water by dissolving 30 gm
urea in 100 gm of water. The molal

. elevation constlant for walcr 1S

032 k kg/mole. )
Calculate the EMF of the following

cell':
Zn| Zn*2(M)| | Cu*? | Cu

- -] "_J
when the.values of E for Zn*~ | Zn

and cu'?|Cu, are ~ 076 volt and

"+ 034 volt respectively. Their

concentration is 1| molar. 2
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What is Tyndall effcct ? Write down
its cause and two main [actors
which affect it. 2

%) 72 TF W U 92 U UfEe Gomied &

fasmr # S0 % 4@ 9GS W TTOE]
RIS | 2
? RES- AGEEST
£ T o1 99T 98T 1§ Fie 2
fey wq i fewTi fEhEy ¢

i}y @ W

i) @I 1+1
I ME ® A A & S0 ey
qy gEeEe WEE § 9™l W ared

kieacAicieo s rylicicnd 2

In a mixture of 72 gm water and
92 gm cthyl alcohol, calculate the
mole fraction for both. 2

What are fuel cells ? Describe the
hydrogen-oxygen fuel cell in brief. 2
Write short notes on the following :
i) Gold number

i)~ - Auto-catalysis. *1+1
Wntc the cause of inertness of noblc

ascs:andiwrile the use of the ‘noble
'gAs wilichiis pf resént in the’ rnincral
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I 1 W I ) I+ 141
ez sfafEn 2o oee udE a1 &
e e THlsRo fofgy 891 oy o=
F THIERE T4 ABeH Il % A
T AEh AMTEAIH H qUEE G
i) teTed 1+1+1
il AEeTh @41 € 2 HiosloWie
FFAM B & quEEE aHimel
1+ 1+ 1

Ll | X

T TdeEen
(antibiotics) T o ¢ 2 T PLaLC| =7
T Fiea A 14 1+1
What  dco you understand by
transition clements ? Explain the
formation of interstitial compounds
and coloured ions by them. 1 + 1 + ]
Write down lhe chemical equation
for the preparalion of cthylamine by
Schmidt. reaclion and also write the
chemical equations for the reactions

of ethylamine with acetaldehyde and
nitrous acid. 141+1

AT | Tehegu |

lﬂhiliﬁ- (antiseptic)
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What are addition polymers ? Write
down the chemical equations for the
preparation of PVC and Teflon and
write their uscs also. 1+1+1

What are anuscpuc and
antibiotics ? Write their man
functions with example. 1+1+1
e Hie ) dkear @ A R W
=7 WG SHeUl Us U & i
FHHEGT 100 FHEIT H S50% TEH wel
&1 aFffmar w1 & i e S|
1+3

JHH i g1 eal @it § 3G
e GF SR & 72 dEW SRR o
qitea T ditwa 2R I9H B Gl
affeaiey & TO@HS A o
3w | ‘ 4
TR fagra = MM (@hiEy o
=1 difrenl & JUPAC 1M @@ .

i) K,[Co(NO,),)

«ii]  Fe [Fec(CN)gly 2+3

347(FN). 10
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fear Taiy fafae o= S0t @ DOT
T T ATt aE o fefan

. 2+2
Find out the unit of ratc constant
for the first order rcaction. A first
order reaction is completed 50% in
100 seconds. Find out the rate
constant of the reaction. 1+3
How is steel obtainced {rom cast iron
irn. DBessemer converter ? Give a
l:belled  diagram  of  Besscmer
converter and also give chemical
cyuations for the reactions which
takc place in it 4
Write down the postulates of
Werner's Theory and write TUPAC
names of [ollowing compounds :

i} K,|Co(NO,),]

i) Fe, [Fe(CN)g], 242
Write the mechanism of substitution
reaction of haloalkanc and also
write the chemical equation for the

' of DDT from

2+2 4
iad
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6. ®) (i) uhwr wiR, (i) wefeem @ wd

TFREE S fevan FI fandl widge sl
STAEN & anNg feEd = T TEE
Tewled @ SMwar & (EEEE
wiee «f fafan) wyFm s 3R
wefas, Gdas o6 TaEe Temrel o
s IEET 1+14+1+2
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AT EEAN @ a9l B w
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FEHRTERE  50% NaOH & T
wRengs # 7 NaOH 3R 1, %
o T F B 2

iefsEes W TeR STEEE &
T FG & 2

ofeed @ WEEM KOH =

IGRET § FERIEH ¥ 40 & 2

fiee 1 Saaes A = W

WMEEE 7 1+1+1+1+]
reraT
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Writc down the mcthods of
preparation of ethyl alcohol from

() cthylamine and (i) acetylenc
and also write the chemical
equalion for the reaction of alkaline
solution of iodine with ethyl alcohol.
Write in briel the differentiation of
primary, secondary and tertiary
alcohol by Lucas test.

1+1+1+2
OR |

Write down the chemical equations
for the preparation of phenol from
(i) salicylic acid, (ii) chlorobenzene
and (i) toluene and write the
chemical equation of the reactions
of phenol with (i) CHCl; and KOH

and (i) with conc. HNO,( in
presence of conc. H,80, ). Also write

the names of main products formed

in these reactions. 3+2
What happens when (Give chemical
equations only) —

1] Formaldehyde is heated with
. %1450% NaOH ?

‘347(FN). 14

i) Acetaldchyde is heated with
dilute NaOH and 1, ?

ili) Acetaldehyde is hcated with
Tollen's reagent ?

iv) Acetone is rcacted - wilth
chloroform in presence of

KOl ?
v) Glyceral is heated with oxalic
acid ? J+1+1+1+41
OR

How will you obtain (Give chemical
cquatons only) —
1)  Acetone from acetic acid ?
i}  Salysil uldehydc from phenol ?
iij) Hexamethyiene tetramine from
formaldehydc ?
iv) Acetamide from acetone ?
v} Cinnamic acid from
benzaldehyde ?
J+1+14+1+1

T A gR1 TREEE I & R
i avie @ifea feT uig AR g
F A% HNO, & T T &9 W EH
sisfrars & TaratE geE fefae
3+1+1
Fgar
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faefes =1 & ? faoieT A, C, D 3R
K & %T9 9, Tea 9 301 &8 | oA
el ATl & IToE Fie)
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Describe the manufacture of nitnic
acid by Arc method with diagram.

Wrnte chemical equations for the

reactions which take place on
heating of tin metal and iodine with
concentrated nitricacid. 3+ 1+ 1
OR
Describe | with diagram-  the
manufactue of sulphuric acid by
contact process and also give
chemical equations.  Write one

o)

W

16

chemical  equation  to prove  for
cach property ol sulphuric acid as
oxidizing and dehydrating agent.

3=+1+1

Write open chain structure of
glucose. Write chemical equitions of
rcactions of glucose '.'l.'ithJT acelyl
chloride and phenyl hydrazine.
Write differences  between glucose
and sucrose. 1+1+1++2
OR

What arc vitamins ? Wnle main
source, importance of vitamins A, C,
D and K and also cxplain the
diseases caused by their deficiency:.

1 + 4



